Multiplicacion por Celosia (J)

Use la multiplicacion por celosia para hallar cada producto.

8§ 4 2 5 9 8§ 4 0 5 9
1 6
8 5
6 1
3 9
84259 x 1863 = 84059 x 6519 =
6 6 3 1 7 9 1 2 3 8
6 7
7 4
7 1
3 9
66317 X 6773 = 01238 x 7419 =
5.2 0 2 5 5 8 8 7 4
3 5
2 1
1 5
6 8
52025 x 3216 = 58874 x 5158 =
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Multiplicacion por Celosia (J) Respuestas

Use la multiplicacion por celosia para hallar cada producto.

8 4 2 5 9 8 4 0 5 9
0 /10 7To /o To ] 4 2 12710 135 ] 6
18, a2 5, 9 s, 8, a0, 0, 4
6 13 1T % A7 7 ¢ 2 2 0 2 14
s, 4, 2l 6, 0, 2 a0, 0, 0, 5, 5
2 12 T 5 15 0 /10 710 710 /10 7 4
6, 8, a2 0, 4 18, a0, 5, 9
> AT 0 T 2 7 7713 10 4 18 ]
o "4l 2|6 5, 7 o, 2 6,0, 5, 1
7 4 5 1 7 § 0 6 2 1
84259 x 1863 = 156,974,517 84059 x 6519 = 547,980,621
6 6 3 1 7 9 1 2 3 8
3 T3 0 T4 A 6 6 10 1 12 5 ) 4
4,6, 6/ 8, 6, 2 o, 3,71 4,1, 6
2 4 2 0 A4 4 3 010 A0 A3 4
al,/ o o 1, 7, 9 11 6l 4, 8, 2 2
2 4 2 A0 A4 4 0710 710 /10 710 /] 4
o, "2 o1 7 9 o, o 1, 2 3 8
1 0 710 712 /) 4 s 0 AT 27 7
1,8, 8,93, 1 8, 1 o 8,1, 2
6 5 0 4 1 9 4 7 2 2
66317 x 6773 =449,165,041 91238 x 7419 = 676,894,722
5 2 0 2 5 5 8 8 71 4
1 /10 T0 710 1 /] 4 2 N4 4 T3 T2 ) s
1,5, 6, 0, 6, 5 35,70, 0 5, 0
1 /10 10 10 1 7, 0 /10 710 710 /10 ] ,
6, 0, 4,0, 4, 0 o, 5, 8,8, 7, 4
0 /10 710 70 10 ] , 2 A4 4 5 2 ) s
11,5, 20, 2,/ 5 3,75, 0, 0,5, 0
3 AT A0 AT 5 6 2716 /16 715 713 /) &
3,0, 2,0, 2 0 o, 0, 4,/ 4,6, 2
I 2 4 0 0 7 2 0 9 2
50025 x 3216 = 167,312,400 58874 x 5158 = 303,672,092
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